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ECONOMICS |
{ Honours |
PAPER -1
Full Marks : 90
Time : 4 hours
The figures in the right hand margin indicate }narks

Candidates are required to give their answers in their
own words as far as practicable |

Nlustrate the answers wherever necessar;if

Use separate scripts for each half |

[FIRST HALF]

{ Microeconomics -1)
[ Marks : 45 ]
GROUP —- A

1. Answer any five questions : ‘ 2x5

(a) Distinguish between inferior goods and
giffen goods. !
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(2)

() What will be the shape of the indifference
curve when two goods are perfect
substitute ?

(¢) Define CES production function.

(d) Why is AR curve of the firm horizontal
under perfect competition ?

P
(e) What is Marginal Rate of Substitution ?
(/) What is normal profit ?

(g) Explain cross elasticity of demand.

(h) Ifprice rises by 3%, the quantity demanded
falls by 1-5%, calculate the price clasticity
of demand.

GROUP —-B
Answer any three questions: = §x3

2. Define elasticity of substitution between factors
in production and show that elasticity of

e
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5.

(3)
substitution is equal to one in Cobb-Douglas

production function. \ 2+3

What is expansion-path ? Under what conditions
it is a straight line through the origin ? | 2+3

Define income consumption curve (ICC). What
will be the shape of the ICC when goodﬁ
complementary ? 3+2

Establish the law of demand through the axioms
of Revealed Preference Theory. ‘ 5

Explain the different characteristics of CES

_production function. i 5

What are the three stages of production —

Explain with proper diagrarn. 5
GROUP - C
Answer any two questions : \ 10x2

' Distinguish between compensated demand curve

and ordinary demand curve. Show that ordﬁnary
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(4)

" demand curve is more elastic in case of normal 3
good. _ 4+6

9. Explain the shape of the short run average cost
(SAC) curve and show the relationship between
~ SAC and SMC curves. 6+4

10. Explain the conditions of short run equilibrium
of a firm under perfect competition and derive
the short run supply curve of the firm. 6+4

11. (a) Suppose there are two goods, that the prices
are given and that there isa consumer witha
certain income. Show in a diagram how it is
possible to split the effect of a price fall of
good 1 into the income and substitution
effects.

(b) Ifthe goods had been an inferior goods, what
would have been the difference in the graph ?

(c) Ifthe goods had been a giffen goods what
would have been the difference. 34IHIT &
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[ SECOND HALF]
( Macroeconomics -1) -
| [ Marks:45]
GROUP-A

Answer any five questions - 2x5

(a) What are national income leakages ‘7\
(b) What is marginal efficiency of capital ?
(¢) What is GNP deflator ? |

(d) What is value added method of meésuring
national income ?

(¢) DefineM,,M,andM,. |

(f) How do you calculate personal income (PI)
from national income (NI) ?

(g) Whatdo yo.u mean by stagflation 7 |

|
(k) What do you mean by ‘circular flow of
income' ? -
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GROUP - B
Answer any-three questions : Sx3

‘What is Ratchet effect in Duesenberry's reiative
income hypothesis.

Discuss the portfolio selection for an asset
holder who is known as risk diversifier.

‘Interpret the following identity in a closed

ecenomy :
I=S+(T-G)

How does Permanent Income Hypothesis of
consumption explain short-run variability and
long-run constancy -of average propensity to
consume ?

Explain the 'inventory stock adjustment'in the
context of national income accounting.

On what factors does the credit creation
multiplier depend ?

{ Continued)
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GROUP -~ C
Answer any two questions : | 10%2

Define Gross Domestic Product (GDP) and
Personal Disposable Income (PDI). What
adjustment do you suggest to calulate PDI from

GDP ? Evaluate GDP as an welfare index. 2+4+4
: |

Explain the Keynesian theory of demand for
money with special emphasis on liquidity! trap. 10

Examine the classical macroeconomic iystem
and show that real sector is unaffected’ from
any change in the stock of money supply. | 10

Discuss the present value criterion for invc.L»tment
and distinguish it from marginal efficiency
criterion. ' ' 10

! |
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